Linear Regression Practice

Your body mass index is calculated by dividing your weight, in kilograms, by your height, in metres,
squared.

Specialists analyzed the relationship between an individual's body mass index and his or her heart rate
recorded during physical exercise of medium intensity. The data gathered is represented below.
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i) Estimate the correlation coefficient
ii) During this exercise, the heart rate of the 1.8 m tall person is 105.
Based on the data, determine the approximate weight of this person...
a) Using just the scatter plot... b) Using a mayer line  ¢) Using a median-median line



2. The following table and scatter plot show the relationship between the percentage of the
population in various countries that is younger than 15 years of age and the life expectancy of the men
who live there.
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i) Estimate the correlation coefficient

ii) Estimate the life expectancy of the men in a country in which 50% of the population is younger than
15 years old...

a) Using the scatter plot

b) Using a mayer line

c) Using a median-median line



